HEHINZ / Components

BT =HILT—%4 / Technical Datall

No. 2% / Part name #=E / Pcs #ME / Material - RmME / Color+Finish
Wit kLD / Recommended torque . [T . FLEF A% VAR ADCI2 = Dol B (AL
M25 : 0.15N*m ~ 02N*m Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
9 AR ) TILSHH A A6063S-T5 DN —- BRI (NEREEE)
M3.M4 : 0.3N*m ~ 0.6N-m Frame Extruded aluminium A6063S-T5 Silver=Painted (Unfinished inside)
2 IL—LA . T ILSRHH A6063S-T5 DIVN—- BT (NERENER)
N Panel support frame Extruded aluminium A6063S-T5 SilverPainted (Unfinished inside)
A . ISR ) 7 ILEAR A1100P DIILN—- B (ZEERLE)
Panel Aluminium A1100P Silver*Painted (Conductive inside)
5 HN— : 7 ILE4R A1100P DIN—-FE (EEERNE)
Top cover Aluminium A1100P Silver=Painted (Conductive inside)
6 TFThiN— : 7 ILZHR A1100P DILN—-RE (REERLE)
Bottom cover Aluminium A1100P Silver=Painted (Conductive inside)
JLE TPE (T35RF) T3vY
; Rubber feet 4 TPE (Elastomer) Black
TILZRE FILT & YYarvd DIWIN—TFIIIAL & TFVH
Aluminium feet Aluminium & Silicone Silver*Anodized & Black
g ERfHE X (IMM3 x 8) 1 &% =T ILAYE
. Screw (Flat head M3 - 8) Steel Nickel plated
F view . E{FE R (AFM3 x 5) ; % UL AYE
Screw (Trapezoid head M3 - 5) Steel Nickel plated
10 BR{FER (/N1 EM4 x 8) 4 % ZEE/AA—F
Screw (Bind head M4 - 8) Steel Black trivalent chromate
1 HBATER GETMIEFTAM25x7) 19 % —wlr)LAvE
Screw (Captive pan head M2.5 - 7) Steel Nickel plated
FIF / Product Number 3
AUP : :
N N N . 1
HFi& wti& DFi& BR/A ERP/H 4%
H dimension W dimension D dimension Feet (R or A) Screw (P or H) Color Type
B AL#k / Feet specification EHE X4L#% / Original trapezoid head screw specification
. 2
10 12 I
E:I“AE / Rubber feet 7ILSRZ / Aluminium feet IE 7SR / Phillips 733 / Hexagon—socket
B AL#k / Color Type M/ Title N —
= O == o . - s 7\
i05 / Code a3—7F—708v% / Corner block B4R / Frame ISFRIL / Panel #$173— / Top cover | T7/3— / Bottom cover TAKACHI| HARMINFERIR INRIIVERTILES Y r—X /8 S
S S < JLsN— / Silver 2 JLIN— / Silver | 2 JLsN— / Silver < )L13— / Silver < )LsS— / Silver TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM ENCLOSURE with DETACHABLE PANELS R 5o
S B 75974 / Black 2 )Ls8— / Silver | 2)LsS— / Silver < JLsN— / Silver 2 )LsS— / Silver 2/ Approved 1% [B/Checked [ /Created F4Z/Product number =/ meae
thig T A& AUP177-43-25000-000 —
~N— /Page

1ERk B /Date

2024/05/23

1717

AREDEFEIIBRRSHINDFER T E(CRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




E view

A-A(1:5) C-C(1:5)
o o
© =
0
236 422
383
D view A view C view B view
430+0.8 250+0.5
%
— = B . B 2 R

177+0.5
-
ﬂ
H
|
u
|
|
|
ﬁjx_
H
H
H
}e

° ° T/ Title

TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM ENCLOSURE with DETACHABLE PANELS =
7&K R/ Approved 1&[X/Checked #I[X]/Created FIFE /Product number RE/Scale
1:5
iR e A AUP177-43-2500-0O0 —
~N— /Page

YERZ B /Date 2024/05/23 2 /17

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C fAl#% / C Frame 200 225

[9p)
(o
©
[9p)
o .
— ©
3
@
[9p)
==
™
<
TR o)
5 5
2-M3FY I}
M / Front side 2-M3 Countersunk ZEM / Back side
X RxIE+EH R / Same on the other side.
D {8I#% / D Frame
=)
p
2 o _
%M / Front side gs —| ZZM / Back side
4/ Title A —
= A ==
TAKACHI] #HSHANTFEHTE FIAR O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
£/ Approved #% X/ Checked #I[X]/Created FIE /Product number RIE/Scale
1:3
i £ GES e
H177 - D250 YR B /Date 2024/05/15 3 /1
AREDEFEIIBRRSHINDFER T E(CRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




380 6.8 2

22.5

o
ﬂ'-
1.6
. Lﬁl
7 A\ i
[\ \\MJ ]
&
N
M3 5 3 3.3

2-M3FH S}
2-M3 Countersunk

T4/ / Total 4 pieces

mnd/Title
BRRUIHFERTE JL—L O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel support frame
£/ Approved 12X/ Checked #1[X/Created FIE /Product number RE/S:aZIe
iR x FES e
W430 {ERL H /Date 2024/05/15 4 /7
AREOEEEIIHARIHINFEMIECIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A /\FRRJL / A Panel

164

RM® / Front side

B /\®x)L / B Panel

379.5
K v o
[ & (] co Ml
H#~Ti% / Max dim.372+0.5
K v CR
| & (5] &

%M@ / Front side

A3~Fi% / Max dim.143.6+0.5

REE—HMA

Surface protective film side

6-M2.5F AR LRI —T
6—Metal sleeve for M2.5

RE&E—HMA

Surface protective film side

3.5 2 356
0 [—© [] o |
0
©
rsd
i | ¢ o o
ZZ M| / Back side
0 [—© [} o |
I =5 0 ¢
ZZM / Back side
4/ Title A —
A == o
TAKACHI| X2 hFERIE ISR \C} [
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
A B/ Approved 1&[X/Checked #[X/Created FIE /Product number RE/Scale
1:3.5
iR £ fi A R—/Page
H177 — W430 1 B /Date 2024/05/15 5 /1

AREDEFEIIBRXESHINDFER T E(CRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO.,

LTD. All Rights Reserved.




4-R14.7
<
; o
& S

M / Front side

4194

400

H#~ti% / Max dim. 383+0.5

6-24.5

E#~ti% / Max dim. 203+0.5

2
/s )
REES —IAY
Surface protective film side
N o
ZEm / Back side
4/ Title A —
. A .
TAKACHI| HASHINFEKIE FN— O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
=0 = Te : RE/Scale
£%/Approved t&X/Checked #I[X]/Created FIE /Product number
1:4
k4
iR £ FHt R—/Page
W430 - D250 {ERL B /Date 2022/11/16 6 7/ 7
AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7

239.4
220
191.4

M / Front side

419.4
400

371.4

H#~Fi% / Max dim. 383+0.5

6—24.5

E®~TiE / Max dim. 203+0.5

4-M4

2
% AN
REES—IMEY
Surface protective film side
N\ =>/
ZEm / Back side
4/ Title A —
PN .
TAKACHI| #RXL#4hFERTE Thii— O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
23/ Approved t&X/Checked #I[X]/Created FIFE /Product number RE/Scale
1:4
iR 2 B s
W430 - D250 1ERk B /Date 2022/11/16 777
AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.






